
Polynomials 
Ex. 2.3
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Isc . 2- 3

1. Iet p# = ✗ 3-1 3×2-13×+1

① by remainder theorem

remainder = p C-1)

= C- 1) 3+3 (-112-131-1) -11
= - 1- 1- 3-3-11

= 4- 4

E- 0

④ by remainder theorem

remainder = p⇐ )
= (E)3+3 2 -13¥) -11

= Ig + & + 3-2-11

= 1+-6+812+-8

= 2¥

④ by remainder theorem
remainder =p (o)

= 03-136-12-1 310 ) -11

= 1

④ by remainder theorem
remainder =p C- it)

= C-F) 3-13 C- it)2 -13 C- IT) -11

= -11-3-1311-2 _ 31T -11
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④ by remainder theorem

remainder =p (-5-2)

= (E)3+3 (F)2+3 +1

= -1-285-+3×2,5 - 1-25-11

= -1¥ + 75-4 - ¥ -11

=

- 1-25-1150 - Go -18
8

= 158-181
,

8

= -¥

2. Let pcx) = Is _ ax
2 -16k-a

leg remainder theorem

remainder =p (a)
= a3- a (a)

2
-16 a - a

= at- at -1 Sa

= Sa

3- Let p c) = 3×3 -17k

by remainder theorem

remainder = P (-7-3)

= 31-73-5 -17-(-7-3)
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or pf 7-31=1-3/(-343*9) - ¥
= -3¥ - ¥

= _343-1#
= -4990--1-0

Since remainder -1-0

i. 7-13k is not a factor of pecs .
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